MNapaywyol Backwv cUVOPTHCEWV

Napdaywyog cuvaptnon

Zuvaptnon f(x) £1(x) OQuuopaote
f(x)=c, xeR f'(x)=0, xeR (C)'zo
f(x)=x, xeR f'(x)=1, xeR (x)':l
f(x)=x°, xeR f'(x)=2x, xeR (xz)’=2x
f(x)=x°, xeR f'(x)=3%x°, xeR (x3)':3x2
f(x)=x* xeR f'(x)=4x°, xeR (x4)':4x3

f(x)=x', xeD,,veQ f'(x)=v-x", xeD, (XV)':V.XV-l
1 ! 1
f(x)=vX, 0, f'(x)=——=, xe(0,+w Ix) =——

(x)=x, xe[0,+) b= (@) (Vx) o

1 . 1 1y 1

f ==, R f =——, R o = —
(x)==, xe (x)=-5. xe (Xj 2

f(X)Zﬂ/,lX, XxeR f (X)=O'UVX, XxeR (UIIJX)’:O'UVX

f (x)=ovvx, xeR

(O'UVX)' = —nuX

1

f (X)=epX, fr(x)=—-5,
- ovV X (egox)’: 12
XER—{K/Z’+E,K€Z} XE{K‘?Z’+%,K‘€Z} oLV X
f(x) = opx, f(x)= -, 1
oLV?X (opx) =-—
xeR—{xrz,k €L} xe (k7K € Z) nu’ X
f(x)=€, xeR f'(x)=¢€, xeR (eX)':e
f(x)=a”, xeR x)

f'(x)=a" - Ina, xeR

f (x)=/nx, xe(0,+x)

(%)=, xe(0,40)

f(x)=m|x, xe R’

f'(x):%, xeR

Kavoveg mapaywyiong
4. (f(x)-9(x) ='(x)-9(x
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